10641%@%‘2#—5&%4?1%3 =
AN N k) ) T T 100220 e
FH LRI BA G A L F Ry

pgT.
B A RS (f452 B4 E A RE L RE )
YREF 2 P .
X/lf‘é; TEOF IR ?;?Lﬁ§§°
(i T % IR B?f%— EAATSLE FRRBOEA B AR L o MR FEL 0 A
@ﬁﬁipxﬁ‘gﬁf‘m? E\‘ﬁ'lﬂ"é‘\},}"‘%léyj‘l}x]éii%kéo

— TR L2 Rm  (F [R5 A 0 £ 30 4)

(QUECREES
(_‘ )l'E]“ 'T}' ;LEL

=73 2 % (Shear zone)

™ # < & F 4 (RQD)

@ & Fik-ki#% (Legeon test)
09 R P13 B2

- ~ @ in# (Quicksand) ? ™ Ii4> (Heaving) ? (10 4 )
ZCOREREP Z TR A 2 BEM 36 B (104\)

OHF A2 FHWEiT- k7R B 72 P-REKR (CU) BRI RR BT £ 97
J‘_L_aco?“‘l—:l.b‘i‘!;ly‘el—‘{})%-i7 HIJ-J 5$}§K§'{C3-¢ (204\>

& (kN/m*) A BEI KA (KNM?) | 34 M-k & (KN/M?)
g1 150 192 80
TRAY 2 300 341 154
R 3 450 504 222
COREP AR AT R E A S f ARt 92 (154)
Odriet 8 A2 f At 2 (154 )



